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Quiz Date: 6th August 2020

Directions (1-15): In each of the following questions two equations are given. Solve these
equations and give answer.

I. 3x + by = 28
oL 1. 8x - 3y =42
(a)ifx=y
(b)ifx>y
(g)ifx<y
(difx<y
(e)if x = y or no relation can be established between x and y

L 6x2+23x+20=0
. I. 6y° +31y + 35 =0

(a)ifx=y
(bifx>y
(gifx<y
(d)ifx<y
(e)if x = y or no relation can be established between x and y

I. 4x* - 25x+ 39 =0
0 I 18y*-15y+3=0

(a)ifx=y
(b)ifx>y
(0ifx<y
(difx<y
(e)if x = y or no relation can be established between x and y

L.x*-72=x
2

04, II.yv* = 64

(a)ifxzy

(bifx>y

(ifx<y

(difx<y

(e)if x = y or no relation can be established between x and y
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L30x*>+11x+1=0
2 _
0 I 42y“ + 13y +1=10

(a)ifx=y
(b)ifx>y
(g)ifx<y
(difx<y
(e)if x = y or no relation can be established between x and y

Lx*—x—12=0
06, ILy>+5y+6=0
(a)ifx>y

(b)ifx=y

(0)ifx<y

(d)ifx<y

(e) if x =y or the relationship cannot be established.
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.x*—8x+15=0
o7, ny>—3y+2=0
(a)ifx>y
(b)ifx=y
(g)ifx<y
(d)ifx<y
(e) if x =y or the relationship cannot be established.

x> —32=112
g, -y — V169 =0
(a)ifx>y
(b)ifx=y
(0)ifx<y
(d)ifx<y
(e) if x =y or the relationship cannot be established.

Adda247.com


https://www.adda247.com/product-testseries/4690/ibps-rrb-po-and-clerk-prime-2020-online-test-series

Bankersadda.com Quantitative Aptitude Quiz for RRB Prelims 2020

Lx—+/121 =0
2 —_ =
go Y7 —121=0
(a)ifx>y
(b)ifx=y
(g)ifx<y
(d)ifx<y
(e) if x =y or the relationship cannot be established.
Lx*—16=0

I.y2 —9y+20=0
Q1o0. Y Y
(a)ifx>y
(b)ifx=y
(g)ifx<y
(d)ifx<y

(e) if x =y or the relationship cannot be established.

L. 2x*—13x+21=0
2 —

011 . 2y—9y +10=0

(a)ifx>y

(b)ifx<y

(gifx=zy

(d)ifx<y

(e) x =y or relation cannot be established between x and y

.3x*—14x+15=0
2 -

Q12. . 2y—9y +9=0

(a)ifx>y

(b)ifx<y

(0)ifxzy

(d)ifx<y

(e) x =y or relation cannot be established between x and y

.3x*-10x+8=0
2 -

Q13. I 2y— 11y +15=0
(a)ifx>y
(b)ifx<y
(q)ifx=zy
(d)ifx<y
(e) x =y or relation cannot be established between x and y
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l.x*=125
o1a. ' y'—6y+9=0
(a)ifx>y
(b)ifx<y
(q)ifx=y
(d)ifx<y
(e) x =y or relation cannot be established between x and y

. x*=10

oS, Il.y*-9y+20=0

(a)ifx>y
(b)ifx<y
(c)ifx=y
(d)ifx<y
(e) x =y or relation cannot be established between x and y

9
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Solutions
S1. Ans.(b)
Sol.

L3x+5y=28..0i)

IL 8x - 3y = 42 .....(ii)
Multiplying (i) by 3 and (ii) by 5
Ox+15y =84

40x-15y =210

49x =294

x=6

18 + 5y =28

y=2

LHBY

S2. Ans.(e)
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Sol.

L6x°>+23x+20=0
6%+ 15x+8x+20=0
3x(2x+5)+4(2x+5)=0

IL. 6y° + 31y +35=0

6y° + 21y + 10y +35=0

3vy(2v+7)+5(2y+7)=0
-7 -5

=— or—
Y73 3

No relation

S3. Ans.(b)

Sol.

I.4x* -25x+39=0

4%*-13x-12x+39=0

x(4x-13)-3(4x-13)=0
13

x=—or3
4

II. 18y* - 15y +3 =0

18y* -9y -6y +3=0

9y [2yv-1)-3(2y-1]=0
1 1

=—or=
Y=373

X>y

S4. Ans.(e)
Sol.

Lx*=x-72=0
x*-9x+8x-72=0
x(x-9)+8(x-9)=0
x=%or-8

ILy® = 64

y=18

No relation

S5. Ans.(c)
Sol.
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L30x°+11x+1=0

30x% +5x+6x+1=0

Sx(ex+1)+1 (6x+1)=0
1 1

xX=——or—=—
6 5

IL42y* +13y+1=0

42y + 6y + Ty +1=0

6y (7Ty+ 1) +1 (7y+1)=0
1 1

Y 7 6

V=2x

S6. Ans.(e)

Sol.

Lx*-x-12=0
=(x-4)(x+3)=0
=x=4,-3
[L.y*+5y+6=0
=(v+3)(y+2)=0
=y=-3,-2

No relation between x & v

S7.Ans.(a)

Sol.
Lx*-8x+15=0
= (x-5)(x-3)=0
=x=523
ILy*-3y+2=0
=y-2)y-1)=0
=v=21

=X>y

S8. Ans.(c)
Sol.
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L.x*-32=112
= x% = 144
=x=12,-12
IL.y-v169 =0
=&y=y‘ﬁ

=y=13
Sy>x

S9. Ans.(b)
Sol.

Lx-+121=0
=x=v121

=x=11
ILy*=12

1

=y=11,-11

=X=2y

S10. Ans.(d)

Sol.

.x*-16=0
=x=4, -4
ILy?>-9y+20=0
=(y-4)(y-5)=0

=y=475
=XV

S11. Ans. (a)

Sol.
l.

=
=
=

K=

Ixi—13x+21=0
2% —Bx—Tx+21=0

(x=3)(2x—7)=0

7
KZB,:

. 2y2—9y+10=0
2y —dy—Sy+10=0

(y—2)(2y-5)=0

-9 =
15"'_2:2

Y
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S12. Ans. (e)
Sol.

. 3x*—14x+15=0
= 3 —9x—5x+15=0
= (%-3)(3x5)=0

= x=3,§

. 2y*—9y+9=0

= 2y?—6y—-3y+9=0
= (y-3)(2y-3)=0

= '5.r=3,§

Mo relation

S13. Ans. (b)
Sol.

. 3x*—10x+8=0
3k —6x—4x+8=0
(x=2)(3x—4)=0
x=2,i

3
Il 2y2—11y+15=0
2y?—6By—5y+15=0
(y-3) (2y-5)=0
= 15.':3,%

Louu

Lo

Y

S14. Ans. (e)
Sol.
. x*=25

= x=+15

. y*—6y+9=0
= (y—3)*=0
= y=3

Mo. relation

S15. Ans. (b)
Sol.
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. x*=10

= x=i\,."'ﬁ

. y2—9y+20=0
= (y—5)(y—4)=0
= y=5,4

¥ =X
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